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1. 3R =0 413283P759387, 12 A Rwrsy 3,
A P F1 WA T 7

fa} 3
(b} 6
() 7
(@) 8
2. af 21000000 5y 7 § Rwifim fsm W, A
AqESA AW
@ 1
) 2
fc) 4

d 6

3. W {2 36 §9) A ¥ (x, y) % W A gm
?Wmfﬁ?§+%=2@,mx¢y?

o) A
) TF
g @

(d) T
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4, 50 ¥x 100 ¥ 99 =g TEH (m, )
@H’ﬁfﬂﬁﬁﬂﬁﬁﬂ{%m-n=6€lliﬂ
TR % T gm &7

@ 2
b) 3
(e} 4

d 5

ULER TS|
la; +ay +ash(b; + by + by +by)
(e tey +eq tey +es)

i fan v &7

(a 15

(b} 30

fc) 45

(d) 60

6. = 27%7 - 15%7 = 6 ¥ Ronfom o wme,

A F Y

fa} ©

b 1

c) 3

d) 4
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1. If the number 413283P759387 is

divisible by 13, then what is the value
of P?

4. Consider the pairs of prime numbers

(m, n) between 30 and 100 such that
m-n=46. How many such pairs are

there?
(@) 3
fa) 2
(b) &
b 3
fc) 7 © a
(d 8 ) 5
2. What is the remainder when 21000000 ;o 5. How many terms are there in the

divided by 77 following product?

(a] +a2 +a3”j}1 +b2 +b3 +b4]

(@) 1 (€ +ep +e3 +e4 +eg)
(b 2
fa) 15
fc) 4
{h) 30
fdl 6
[c] 45
3. How many pairs of (x, y) can be chosen d} 60
from the set {2 3,6 89} such that
x 4
—+==2, where x # y?
Yy x 4 6. What is the remainder when 27%7 - 15%7
is divided by 67
a) Zero
fa) @ 0
{b) One P
fcf Two fe) 3
{d} Threc {d) 4
XVWS-T-MTK/S0A 3 [P.T.O.
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7. M a+b+c=03¥, @ Ffafes & 4 #1-3 9, 6732 & famaR | T F1 3% T 27
|el 77

1. a3 +b% +¢? =3abe fa) 1

2. a?+b?+¢? =-2ab+bc+ea)

() 3
3. a®+b?+c® = -3abla+b)
fc] 7
= faw 7 g2 = WM FW F@ I PR
{d) 9
(@ ¥ 1R 2
() had 2 *it 3
(c) ¥aa 1 a3 10. 3R
b+~.lbﬂ—2mg_:a
(@ 1,233 b-vb? -2bx
2, @ x AR T RY
8, Iie
(a) ab
(a + b)
p=J3Q+2+J3Q'"2
J3g+2-,3g-2
2, @ p? - 3pg+2 T WE 7 b 200
@+l
{a) O
. 2ab
(b) 1 M (a+1)?
fc) 2
(d) abz_
(df 3 ja+b)
XVWS-T-MTK/50A 4
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7. lfa+b+e=0, ther which of the following 9. What is the unit digit in the expansion
are correct? of 67327

1. a®+b>+¢® = 3abe
2. a®+b%+c¢? =-2ab+bc+eq @) 1

3. a*+b% +c¥ =-3aba+ b

b) 3
Select the correct answer using the coede
given below, fe) 7
fa} 1 and 2 only (dy 9

{b) 2 and 3 only
10. What is the value of x, if

b+vb? -2bx _ .,

¢t 1 and 3 only

(d) 1,2 and 3 b-+b? -2bx
8. If ,
a
fa) arb)
J3g+2+.[3g-2
p =
¥3g+2-3g-2
) (fibn
then what is the value of pz ~-3pg+27?
faj 0 " Eahg
fa+1)
b 1
e} 2
(d ab g
(d) 3 (@+ b)
XVWS-T-MTK/50A 5 [PT.0.
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11, OEF0 % INE SASF () 13, 1@ L‘E*“*b dr LYoo A

a a? b2
1.:3=-1}[x2—9x+14] X Y e w7
(x? +x+ Y (x? -8Bx+7) a? b
f&rmer TR B
fa) -2
fa) (x-1)
b -1
B) (x-2
{c 0
fc] (x-T7)
{d 1
(d) (x+2)

; 14, Tk x? 2
12 1 3w S % x?+ax+b R xZ +ex+d T Ro Ho

" (x-2(x-4) (e Ho The) (x-&) 3, T k% uW &0 27

2xXx-95 m_a?

(x? - 5%+ 6)(x -4) :
lfa} d;b.
1 c—-a

@

(x* -Tx+12)

d-b
, 1 M ace

{x2+'?x+]2]

B o &tb
I T cra
(d} 2; d-b

(x2 +7x-12) @ e

XVWS-T-MTK/60A 6
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11, The expression 13. 1 X+9-g4b and Z+2 =2 then
. X Yy
what is =~ - -=~ equal to?
(x? - ix? -9x+14) 2 b

(2 +x+1(x2 -8x+7)

fa) -2
simplifies to
@ (x-1 -
b) (x-2) fe) ©
fe} (x-7) (d} 1
(d) {x+2)

14, If (x-k) is the HCF of x? +ax+b and
x2 vex + d, then what is the value of k?

12. What should be added to — 1

(x-2(x-4) )
2x -5 (@) d-b
to get ? c-a
(x? -5x+6)(x-4)
1
7] ———
@) (x2 = 7x+12) dob
()
a-<
_r
(x? +7x+12)
d+b
() -
1 c+a
@ —5—
(x*~-7x-1%
/R — @ 4
(x? +7x-12 et a
XVWS-T-MTK/50A 7 [ P.T.0.
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18, frefifien wort T e i 18, x % P qle W (ifRme %) 3 R

1. Hﬁx,z%@W%aﬂ'{y,z% 1—26=x§?

I ¥, W (k2 -y, 27 F [

ST R 5-x
2. R x, z F AU £ M y, z F @ 4

I B, W (), 22 F

SRR §1 ol 3
T R § @ AR T (e 2
(@ ¥ (d 1
(b) 7 2

19. 1R x(x-Dix-Dx-P+1=k2 &,

) 1323 frefofes & ¥ B-w & T (TETR)
@ 9 13ad e ke % forg o ¥

fa) x2-3x+1
16. x3-19x+30 ¥ x2-5x+6 F Ho He

(e o Tho ) T R7 M) x%-3x-1
@ (x+2(x-3 .
fcf x*+3x-1
(b) (x-2)(x+3)
fd) x%-2x-1
) [(x+2Qx-1
(d} (x-3)(x-2) 20. 1 . 1
bela-ba-g cab-db-a
1
17 8x  4x +x+1__15_:1_ . +ab(c-a){c—b]
T 1-x* x241 x-1 x+1
3 forareh s R7
!’ﬂ} 0 fﬂ} ﬂ+b+c
(b) 1 o) 3
c) 2 fc) ab+be+ca
(d} 4 (d 0
XVWS-T-MTK/S0A 8
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15. Consider the following statemnents | 18. For what integral value of x is

1. If x is directly proportional to z and 12 =%
y is directly proportional to z, then ,___ 6 =X
(x?-y?) is directly proportional 7__3
to 22, S-x
2. If x is inversely proportional to z @ 4
and y is inversely proportional to z,
then (xy) is inversely proportional b 3
to 22,
fe) 2
Which of the above statements is/are
correct? (d) 1
(@ 1 only 19. If xix - 1}{x—2){x -3+ 1= k2, then which
() 2 only one of the following is a possible
i) Both 1 and 2 expression for k ?
2
(d) Neither 1 nor 2 () x*-3x+1
16. What is the HCF of x3 -19x +30 and () x*-3x-1
x% -5x+67?
) x%+3x-1
fa) {x+2(x-3
2
) (x-2)(x+3 @ x"-2x-1
fc) (x+2)x-1
20. What is
fd) (x-3)(x-2) 1 1
+ -
bela-blla-9 ealb-g{b-a)
17. What is . 1
Bx  4x +x+1_x-1 ab(c - aj{c- b)
I-x* x241 x-1 x+1
equal to?
equal to?
@ o fa] a+b+c
1 b3
¢ 2 {c) ab+bcren
{d 4 (d) 0
XVWS-T-MTK/50A 9 [ P.T.O.
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21. k & frm “wafs WA %

Bkx? + 12kx -24x +16 TIF TF x ¥

25, 4x? +12x2 - x - 3 Feud Fasa &7

o o ot & &7 faj 9@ 2x+1)
fa) ¥ fb) FaE Qx - 1)
b} {c} &x+1|3fﬁ{2x—1]€ﬁ! ‘
) @
“ @ TR Ex+ ) dRIG Re-)
(d) =N
J1_5 4 _ 1 oy amm A7 26. af: Frfiite wft i & sim sl w4 3
ﬂﬁ.ﬂﬁgwx 2%,ﬂ3x = TR 37 e o, 7 B Pt 35 7 & o e
wm?
@ 22
16
2
o 22 “3
16
625 3
{c} Te (b 3
d 0
fdf o é
23. R wiwm 4x? -2%x+ 3k =0 F [T Th-
WE , T k% TR P
(d) 6
{a} 4,12
t) 4,8
{c 0,12 27, T hfe w wa § wER AR agEr T
(d 0,8 e aftem | ww s H AR p B B
wgh o T W e 3:1 R AR
24. R WFW px? -6x+q=0 B TE W R T W A 3 (p+ 1) B, T PR
: T . % %
e R AR S 8 6 %, A (prg) S St 37 R
Fts e @ (-1
% m p-2)
B 7
o 6 © (-3
d 5 @ p
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21. For how many real values of k is 25. 4x3 +12x? - x - 3 is divisible by
6kx? +12kx -24x+ 16 a perfect square

for every integer x? faj {2x+ 1) only
() Zero b} 2x-1) only
{b) One
fc) Both 2x+ 1) and (2x -
© Two { } @x -1}
{dj Fﬂur l(dj Nﬂjther (Qx + u nar ﬂx - ].J
22 If x+.1.=§, then what is x° _._1T 26. Which one of the following fractions will
X X have minimum change in its value if 3 is
equal to? added to both the numerator and the
(@) 105 denominator of all the fractions?
16
2
255 @ 3
By 222
(b} T
3
625 () =
[ —
“ T5 4
(d © 4
fe) -
3
23, If the equation 4x2 -2kx+3k =0 has
equal roots, then what are the values 5
of k? (a} P
(@ 4 12
(b) 4,8
27. Let the average score of a class of
fe) 0,12 boys and girls in an examination be p,
(@ 0,8 The ratio of boys and girls in the class

18 3: 1, If the average score of the boys is

24. If the sum as well as the product of the (p+1), then what is the average score of

roots of the equation px? -6x+gq=0 the girls?
is 6, then what is (p +g) equal to? fa) (p-1)
(a) 8
B p-2
) 7
o 6 ) lp-3
(d) 5 {d) p
XVWS-T-MTK/50A 11 [ P.T.O.
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28, A, BIR CH 3 7:9:12F wgam # ¥ 31, T AWK FAM: 20%, 10% 2 5% #

R T A 8:0:15%F AW A #14R A A I (TR fwwEe) @y T
# w97 I WY H i R, @) A, B e Freefl €rft?
v ¢t w9g T A9 1 A @ 30%
(a} 56:99:69 (b) 316%
(c) 32:8%
(b) 99:56: 69 @ 35%
{e) 69:56:99

32. TF 990 F TR0 S ) & Pife W
{d) 99:69:56 5 @6l % fou few R mm ok W 5%
T=R [N Faw e 9=, @ @@ £500

Fit W F | e T a?
29, 200 m T TF W, 100 m wE TH

EEH ® 10 TFS § 9R F 2L e A far ¥2,000
=15 feeet &7 (b ¥ 1,800
{c ¥1,600
faj 40 m/s
{d) ¥1.200
(b) 30 m/s

3. W W 2% s A RA 2T H
fc) 25 m/s fm wwaf == (TffF w0 A w@ifm) ok
FTM =R F AR €72 B [ 187

fd} 20 m/s
@) ¥6,500
) ¥6,000

30. R (c) ¥5,500
1 1 1 1 99

1x2 2x3 3x4  nn+D 100 fa} ¥5,000

2, @ oW Om A7 34, % ITPME 5 W& W 600 km i AT AT ¢
M A 900 km A AR 10 921 7 FA B

{aj 98 emrd) € slvm 9| TRl
(b} 90 km/hr

() 100 fc) 100 km/hr

(d 101 {d) 120 km/hr

XVWS-T-MTK/S0A 12

https://www.pygonline.com



28. The incomes of A, Band Care in the ratio 31, A trader gives successive discounts of

7:9:12 and their expenditures are in 20%, 10% and 5% respectively, What is
the ratio 8:9:15. If A's saving is one- the overall discount?
fourth of his income, then the ratio of
o,
savings of A, Band Cis fa) 30%
() 31-6%
56:99:69
@ fc) 32-8%
(b) 99:56;69 {d) 35%
fc) 69:56:99 32. A sum of money was invested at simple
interest at a certain rate for 5 years.
(d) 99:69:56

Had it been invested at a 5% higher
rate, it would have fetched ¥ 500 more.

29. A train 200 m long passes a platform What was the principal amount?

100 m long in 10 seconds. What is the {a) ¥2,000
speed of the train?

b} ¥ 1,800
fa} 40 m/s {c) 1,600
(b} 30 m/s {d) ¥1,200
fc) 25 m/s 33. The difference between the compound
interest (compounded annually) and the
(d) 20 m/s simple interest on a certain sum of

money at 12% per annum for 2 years
is ¥ 72, What is the principal amount?

30. 1 {a) ¥6,500
000
! + ! + 1 +---+._1‘=ﬂ re
1x2 2x3 3x4 nn+l 100 (¢} 5,500
{d) ¥5,000

Ny
then what is the value of n? 34, A train travels 600 km in 5 hours and the

next 900 km in 10 hours. What is the
fa) 98 average speed of the train?

fa) 80 km/hr

{b) 99
(5) 90 km/hr
fe) 100 {100 km/hr
id) 101 {d) 120 km/hr
XVWS-T-MTK/50A 13 [P.T.0.
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35. TH =Afn 4fe AT qHE T F gaﬁamﬁ

= ¥, & 9w e 12 e 30 A s
HECEIE R Vi il e n R

38. 2d o ot ¥ 80 et w4, frawr = 25%

73 3 0 s & R ot i fremn g
1f% 7% 33, fasor 1 20% & 7

TR o 27
o (a) 15 TX
{aj 48
20 TR
(b} 50 fire o
fc) 54 e o) 249
@) 60 e (d) 25 dARX

39. Tf 20 =5, 20 Wi, 20 Bl & W% W TH

36. 100 M % FI-TA, 80 I & fs-Tgd
£, A 16 =AfF, 16 R A 7 § @F W

¥ O &1 @™ ) afereadn 79 R0

g ?
fa] 16%
B 20 () 25 %A
(c) 24% #) 24 %
(d 25% (c) 20 f&
(d) 16fR

37. X ¥ AR YR gaN § 25% W S9 2
#r z H g § 25% W) Z A, ¥

# o # e Tl w5 R0 40. TR TR (x — 1) BRFE TR0 {x + 1) oAl A T

™ F y ¥ W ARE (x+2) =heE T

(a)l;g% (x-1 fH A frm o oW oz 21 AR

y:z=9: 108, T x F1 AW 0 27

b 40% fa) 8
fc) 50% & 9
fc) 10
200,
@ 3 % [d 12
XVWS-T-MTK/50A 14
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35. Walking at %th of his usual speed, a man 38. In a mixture of 80 litres of a liquid and

is 12 minutes late for his office. What is waler, 25% of the mixture is the liquid.
the usual time taken by him to cover How much water should be added to
that distance? the mixture so that the liquid becomes

20% of the mixture?

fa} 48 minutea

fa) 15 litres
{b) 50 minutes

(b} 20 litres
{¢ 54 minutes

fcj 24 litres
{d) 60 minutes

fd) 25 litres

36. The cost price of 100 mangoes is equal to

the selling price of 80 mangoes. What is

39. If 20 persons can clean 20 floors in
the profit percentage?

20 days, then in how many days can
16 persons clean 16 floors?

fa) 16%

b 20% faj 25 days
b} 24 d

© 24% (b ays

(@ 25% fe} 20 days
fd) 16 days

37. X sells his goods 25% cheaper than ¥

and 25% dearer than Z. How much

percentage is Z's goods cheaper than Y? 40. Let the work done by (x-1) men in
(x+1) days be y Let the work done

(@) i{_}_g% by {x+2) men in (x-1) days be =z
If y:z=9:10, then what is the value
of x?

b 40% (@) 8

[/ 50% by 3
{c} 10

200
d %
(@ =% {d) 12
XVWS-T-MTK/B0A 15 [P.T.O.
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41, log,, 31-25 sk wran §7

45, TR 573 = g%, O x TS SO R?

{a) 3-35logg2 3
faj 121
-ugm2
(6} 3-2log,2
) 5-5log,2 3
1+logyq 2
{d} 5-3log;o?2
-
42, 15-4./14 % Fig 71 37 1-logg 2
fa) 242 -7
5
(b) 32 -247 () 1-logyq 2
fe) J15-47
@ V5-V3 46. 3sin? @ +4cos? 0 T T W T ¥
43. 2 W W Piw F sgee (Rwe) @ @ 5
A 2
m24tlﬁmqyiiaﬁmzhﬂww%. (b) 4
(@} 12 (e 3
) 13 @ 2
i 14
f@) 16 47. A% sinBeoad =k %1 vl Diﬂﬂg B‘\, A
44, qR n 2 W IE 8, W 52" - 1w fe Faforitaa 3 § #-m w37
ﬁ;-qm ¥
LA ¥ fW) 0<k<1
fa TF
() FIAO0k<0:5
(b) WM
Q0 v ¢ FAA0.55ks1
(d) 33 d) 0<k<l

XVWS-T-MTK/50A
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41, What is log;, 3125 equal to?

fﬂ) 3- 510gm 2
{b) 3-2log;,2
fc) 5-D5logy2

42. What is the square root of 15-4147?

(@ 242 -7
) 3NI-2/7
() 15-47
(d) J5-43

43. The sum of the reciprocals of two

alternate natural numbers is —2—2 What
is the sum of the numbers?

fa) 12

) 13

fc) 14

(dj 16

44. If n is any natural number, then 52" -1

is always divisible by how many natural
numbers?

{a} One
fb} Four
(€) Six

{d) Eight

XVWS-T-MTK/50A

45, If 5573 = 8, then what is x equal to?

3

a —
r ) 1‘10g102

46. What is the least value
3sin? 6 +4c0s? 8?

(a 5
(B) 4
(@ 3

(d 2

of

47. If sinbcosb =k, where Gsﬁﬂg, then

which one of the following is correct?

fa) 0<k<l
M) 0<k=<0-5only
fej 0-52k<1only

fd) 0<k<l1

[P.T.0.
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48. qﬁﬂﬂﬁﬂg%mpninzﬂmosqﬁﬁ, 51. Fefefn sfiemell (Frfefe) w0 famm

A Fiafufigs wuAl w fam Sifsw . w.:

) 1. sinl’<cosd?™
1. .ﬂ'.E%E'”"“"‘?;\‘1'5‘5'5“]%I 2. cosblP>sin57
2. p, 19 30F @ °Fa R

IR & 4 TR-91/8 9 /87
i ol 2 /R wh o
fo) ¥ 1 (b} FAW2
(b) ¥ 2 ) 1323
foj 1 3w 23 @ 3132

() A1 dRaH2
52. U p=secH-tand 3R g = cosec® +cotB
Y, 8 p+glp - 1) Prad TR R7

49, 2-2sinx - sin? x, Gsxgg, ¥ HEGH HH

fap -1
) ?
T 795 TYTH WA ¥ a9 R -
) -3 ) 1
b -1 {d 2
fc) 1
53. TR cosecO-cotd=m B, T cosectd e
d) 3 T 87
{a,l m-.-—l
580. If? wiwm x? + y? —oxysin?6=0 F x m
iy % e awhs e g, A
b m-L
(@) x=y "
() x=-y 0 D2
2 m
fc)] x=2y
m 1
@ 2x-y @ o
XVWS-T-MTK/50A 18
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48, If p=sin?0+cosd for 050<” then 51. Consider the following inequalities :
2

consider the following statements : L sinl’<cosd?
1. pcan be less than %_ 2. cosb(’>sin57
2. p can be more than 1. Which of the above is/are correct?
Which of the above statements is/are
correct? (@) 1 only
(b) 2 only
fa) 1 only
() Both 1 and 2
(b} 2 only

(d) Neither 1 nor 2
{c Both 1 and 2

B82. If p=secB-tan® and g =cosech +coth,

d) Neither 1
(d) Neither 1 nor 2 then what is p +g(p-]) equal to?

49. What is the ratio of the greatest to @ -1
the smallest value of 2 - 2sinx —~sin? x,
T b) O
e/ 1
a) -3
fa) "
) -1
o 1 58. If cosecB —cotf = m, then what is cosecB
equal to?
{d 3 1
fa} m+—
m

50. If the equation x2+y? -2xysin?8=0

contains real solution for x and y, then ®) m- 1
m
(@) x=y
2
B x=-y o+~
2 m
g x=2y
m. 1
i 2x=y @3
XVWS-T-MTK/50A 19 [ P.T.0.
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54. TF <R ARC T By # Fee ¢ = T 58, IR

¥, tan A+ tan B s TR §7 6 + 8 tand = secd ¥R 8- 6tanb = ksech
a
faj o %, 9 k2 AR R
a? @ 11
) be
52 (o) 22
(e} P ) 77
c? &) 99
(d) b
59. Wi W TE @ HER W@ % WY 60° ¥
55. HA wifsr cos +cosp =2 K WWWEMNWW@%W%
sina +einf=0 ¥, @ 0%os90, x H ) g w e o g B F R
0 <P <90 B cos2o - cos2B F1 A 71 §? e WA W0 S (mede) W@ b R
fe} 0 g R fog 31 oF @ SEiR T A €,
b 1 ) @Y ) T T A
¢ 2 L4
@) sl sedl % s Pt T8 e o 2x
N T fb) 3 x W
5 N fe) 2x ™MK
56. IR seco +coaﬁ=§, & 0<6<90 B, @ 2ExAR
sin? & %1 A T 87
@ 1 60. TF JETHR T F BH N T FER T
4 % Fiwead 2 S | 60° AN 45° F T
) % yafm (Faee) +an ¥ 2R T/ waR g A
3 F QW P F PO AR HE, D cotd
o 3 o e €7
@ 1 @ ;
B7. (L+cot® -cosec)(1+1tan6 +sech) T b 2
TR B?
@) 4 ) —
) 3 v
fc) 2 el 4
@ 1 fed) 7
XVWS-T-MTK/50A 20
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54. let ABC be a triangle right angled at C,
then what is tan A+ tan B equal to?

fa] =

be

{b)
{c)

fd)

g-lnﬂ 8 |ur::r g|nu

BB, Llet cosa +cosf=2 and sina +sinfp=10,
where 0£0 90, 0P <90°. What is
the value of coslu - cos2f?

fa) 0
(b 1

fc} 2

fd) Cannot be determined due to
insufficient data

56. l{secB+cosb= g, where 0 58 £ 90°, then

what is the value of sin? §?

fa)
(b)

(¢

Bl N B

—

(d)
57. What is (1+cot8 - cosec){l + tan® + secb)

equal to?

(a) 4

(b} 3

(¢ 2

fdj 1

XVWS-T-MTK/S0A

58. [f6+ 8tanb = sech and 8- 6tan® = ksech,

then what is the value of k27

(@ 11
(b) 22

(c) 77
{d) 99

59. A pole on the ground leans at 60° with

the vertical. At a point x metre away
from the base of the pole on the ground,
two halves of the pole subtend the same
angle, If the pole and the point are in

the same vertical plane, then what is
the length of the pole?

(@ 2 x metre
(b} 3 x metre
fc] 2x metre

{d) 242 x metre

60, A vertical tower standing at the corner of

a rectangular field subtends angles of
60° and 45° at the two nearer cormers.
If 8 is the angle that the tower subtends
at the farthest corner, then what is
cotd equal to?

1
{a) 5
B 2

fc)

@l

[-r-

(d)

3]

2

[P.T.0.
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61. T% Y% IR TH ien R AR SR

THRAAA A ¥ §) 67 i I8 w1, i
# fisw @ SrgoE 70 R?

fa) 1:1

b} 2:1

fcg 3:2

[d) 4:3

62, 60 mm =W AW TH W Ma w1 fEEE

144 cm ol $ 0 a0 0 S R SR H
e = 47
fa) 05 cm
fB) 1cm
f¢g 1'5cm
{di 2 cm

63. & I (fafest) 3 smm R B =,

fofert i 39 & ¥ omm 2:3 ¥y AR
fufe %1 s 1617 em® 2, 7t Ryferst

mﬁ—qﬂﬂmwﬁ?(mf i)

(@ 242 cm?
() 385 cm?
fc) 462 cm?
(d) 770 cm?

64, 14 cm T TH AR URY F W@

AT THA §TFA F1 AHR 44 cm? }| Wy
99 cm® 1 w1g A ¥ ¥ IR T D W
fism R v wiafew fswm or ¥, @ (R+A
ﬁmmt?(m%eﬁw

fa) 9 cm
o) 75 em
fc¢ 6 cm
{di 45 em

XVWS-T-MTK/50A

22

65. 24 cm fFR (W) 9161 & 91§ § ¥ §

3w o ey s 8 R I @7 9 W
T A ¢ IR D BR T F R 12 em
A 16 em &, N TR B T F 7 FAES
87

(a} 1200 cm?
{b} 1800 cm?
) 2400 cm?

{d 3600 cm?

66. TF TR T (Ffwa J6@), e il

ﬁﬂTScmﬁi‘ﬂmﬁl cm%,‘l’FﬂﬂT\T
qU gon R 3@ QR IH H 10 cm HiARE
o a1 T SerER T § s R b
v fl S o wem?

fa} 1cm
) 2 cm
[¢f] 3 cm

d} 4 cm

67. 22 cm ¥ ¥ WY F Th W W H

g, 21 cm 398 91 @& WF T
%) wE % emm §i Bewm owm ¥

(n = l,feﬂﬁq}
fap 11 cm
fo) 165 cm
o 22 cm

{d) 275 cm
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61, A cone and a hemisphere have equal

bases and equal volumes, What is the
ratio of the height of the cone to the
radius of the hemisphere?

faf 1:1
b 2:1
fcj 3:2
fd 4:3

62. A solid sphere of diameter 60 mm is

melted to stretch into a wire of length
144 cm. What is the diameter of the
wire?

fa) 05 cm

() 1cm

{¢ 15 cm

{d) 2ecm

63. The ratio of the radius of base to the

height of a cylinder is 2; 3. If the volume
of the cylinder is 1617 em?, then what
is the curved surface area of the

cylinder? (Take 7 = -2?2)

faj 242 cm?
(b} 385 cm?
{c) 462 cm?
{d 770 cm?

64. The difference between the outside and

the inside surface area of a cylindrical
pipe 14 cm long is 44 cm?, The pipe is
made of 99 cm? of metal. If R is the
outer radius and r is the inner radius of
the pipe, then what is {R+r) equal to?

22
ake 1= —
(T: ?}

fa) 9 cm
() 75 cm
fe) 6 em
{d} 45 cm

XVWS-T-MTK/50A

65. A metal solid cube of edge 24 cm is

melted and made into three small
cubes, If the edges of two small cubes
are 12 ¢m and 16 cm, then what is the
surface area of the third small cube?

fa} 1200 cm?
(b} 1800 cm?
fc) 2400 em?

{d) 3600 cm?

66, A conical vessel whose internal radius is

5 cm and height 24 cm is full of water.
The water is emptied into a cylindrical
vessel with internal radius 10 cm. What
is the height to which the water rises?

fal 1 cm
(b) 2 cm
fc/ 3cm

(&) 4 cm

67. A metal solid cube of side 22 cm is

melted to make a cone of height 21 cm.
What is the radius of the base of the

cone? (Take 1= 2—?]

fa) 11 ¢m
b} 165 cm
¢ 22 cm

fd} 275 cm

[P.T.O.
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68. 24 cm ¥ IR T VF F TH-7¢Y S

550 em? ¥ W B fem = W fah
Sard W g w01 ¥ (n=2T23i’rF‘v11z)

5
fa) 1—2"
S
13
7
25
..?.
27

L

[c)

{d)

69. 44 cm T 3N 22 cm YW T WA

7. i mMEFTRILZ AW 7 m

foredt 3o T v % R T 79 ()
A A R WS R FEr fReh @7

72, 6 cm TH F T 1ol $ ARG 9§ 90 |

W TF AR T S I R 158 O R
= 6 cm ?1 AR e qf we aF H g
aren &, @ el w1 =R R 97 Smon?

FI 8| T FOW R T TH T T AR (2} 05 cm
T 9eq oer (Rife@) =amn o &, & 9w b} 1cm
i 5 e s x @ v sW @ FTw e} 15cm
F TEh! P R TUEH wE geq Rifdret smmn @ 2 cm

N 8, W ITE AER y R Wy d IR

m?(p%ﬁm} 73. 21 cm BN TR @ 39 4 A & fieuas

(Haet) Frer 9 R IR W F w9 A} Few

fa} 1:1 55 em ¥, T A% H &A% Y7
fb) 2:1 fa) 5775 cm?
fe} 1:2 (b} 6125 cm?
fd} 3:2 (c) 7055 cm?

d) 7255 cm?
70. 3 g/em® W@ H ™ Wy ¥ G (@) 7255 em

TR T sA S §1 3R Wehl i

R g B T S cm W6 cm &, A 74, TF TR 70 cm 50 T8 & 99 F =R # 3

TR R @ g ¥ R & e o R,
I F A (“=?72-5ﬁm) A T o A o R (nif?nm)
(@ 1144 g {a) 55 cm
(b) 1024 g b} 75 cm
fc) 840 ¢ ¢/ 95 cm
{d 570 g fd) 110 cm
XVWS-T-MTK/50A 24
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68. A cone of height 24 cm has a curved

surface area 550 em?. What is the
ratio of its radius to slant height?

T1l. A cloth of 3 m width is used to make

a conical tent 12 m in diameter with
a slant height of 7 m, What is the length

(Take % = %3] of the cloth? (Take 7= 3;"51
(@) % fa} 21 m
(b} 28 m
5 ) 4m
m = (o
13 (d) 66 m
fc) 2_75 72. A sphere of diameter 6 cm is dropped
into a cylindrical vessel partly filled with
7 water. The radius of the vessel is 6 cm.
(d} P If the sphere is completely submerged

in water, then by how much will the
surface level of water be raised?

69. A rectangular paper is 44 cm long and

22 cm wide, Let x be the volume of the fa) 05 om
largest cylinder formed by rolling the (b) 1 em
paper along its length and y be the ) 15 cm
volume of the largest cylinder formed by @ 2 em

rolling the paper along its width. What

is the ratio of x to y? ﬁ‘akc fl= %24 T3. A sector is cut from a circle of radius
21 cm. If the length of the arc of the
fa) 1:1 sector i3 55 cm, then what is the area

of the sector?

b)) 2:1
o 1:2 fal 5775 cm?
€, :
@ 3:2 b} 6125 cm?

) 7055 cm?

70. A hollow spherical shell is made up of (d) 7255 cm?
a metal of density 3 g/cm?, If the
internal and external radii are 5 ¢cm and

6 em respectively, then what is the mass
of the shell? (Take 7 = 2—7?1

T4. A wire is in the form of a circle of radius
70 c¢m. If it is bent in the form of
a rhombus, then what is its side length?

(Take n = %}
(@) 1144 g @ S5 cm
(b) 1024 g @) 75 cm
) 840¢g (¢ 95 cm
(d) 570 g (d) 110 cm
XVWS-T-MTK/50A 25 [P.T.0.
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75. IR TH HMITHER TIH F 9EN 360 m ¥,

R Ta SEa 7 X7 (n=—2?3?ﬁﬁm}

(@) 3850 m?
B 7700 m?2
fc) 11550 m?

(d) 15400 m?

76. U aueE ($fifmm) ABCDH, AB, DCS wRI®

31 el AC 3R BD, PR - H Fed
(fed® #Q) §) ot AP PC=4:08x-4)
M BP: PD=2x-1): 2x +HE, D xFUR
£l

fa) 4
fb) 3

3
fc} 5

‘{d) 2

T7. AABC, ADEF % ¥9%9 %1 AABC 3R ADEF

¥ ufem @ 40 cm 3R 30 em %
(BC+ CA) ¥ (EF + FD) ® 35y fovs St
¥

fa) 5:4
fb) 4:3
fcp 3:2

{d 2:1

XVWS-T-MTK/G0A

26

78. 3 wiRAR el % W wo (R )

W § A T dmel w1 S
4.84:5.20 ¥ 39h v Tt w1 U@
87 '

@ 11:23

) 23:25

[ 22:23

{d) 484:529

79. ABC T fnjw & R 3w 4 s § ek

AD, BC % wwaq ¢l 9f¢ BD=8 cm 3
DC=12-5 cm ¥, 1 AD Prad aome 7

fa 75 cm
b 85 cm
fc/ 9 cm

(d) 10 cm

80. T W1 F T &6, U T & THY 4950

& quat ¥ 3R W w A xR R =
oA y ¥, @ x?: y? Rk wom ¥

fa) n:6
b} 6:m
[cf m:3

{d 3:n
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75, If the perimeter of a semicircular park

is 360 m, then what is its area?
(Taken=21
7
{a) 3850 m?
b} 7700 m?
() 11550 m?

(d) 15400 m?

76. In a trapezium ABCD, AB is parallel

to DC The diagonals AC and BD
intersect at P. If AP: PC=4:{d4x~-4)and
BP: PD ={2x~1):(2x+4), then what is
the value of x?

(@ 4

) 3

{c)

| S 3 WAL

(d 2

77. AABCis similar to ADEF. The perimeters

of AABC and ADEF are 40 ecm and
30 cm respectively, What is the ratio of
(BC+CA) to {EF + FD) equal to?

{a) 5:4

(b) 4:3

fe) 3:2

(d) 2:1

XVWS-T-MTK/50A

78. Two isosceles triangles have equal

vertical angles and their areas are in the
ratio 4-84:5-29. What is the ratio of
their corresponding heights?

@) 11:23
(b) 23:25
fe) 22:23

(d) 484:529

79, ABCis a triangle right angled at Aand AD

is perpendicular to BC If BD=8 cm
and DC=12-5 ¢m, then what is AD
equal to?

fa} 75 cm
(b} 85 cm
{cg 9cm

{d} 10 cm

80. The surface area of a cube is equal to

that of a sphere. If x is the volume of the
cube and yis the volume of the sphere,
then what is .::.fzt‘gr:2 equal to?

@ %:6
fb) 6:m
¢ =:3

{d) 3:n

[P.T.0.
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81. W W e R W ki (x- 1 (x-19

& A & {1 B ¥ i = &7
(a) 28 ¥FE
) 42 30
{cj 56TFR
(d) 84w

82. ABC % P ¥, fimm 310 B g ¥ 1w

< M iR v, AB T T yom ¥ D frg ¥
T AM = MN = NB}1 71 wfim p aln @,
ACHRE T ARG &5 oM, OV &
wm ¢ AR ON, CB ¥ wim ¥ R
BC=12 cm ¥, @ (PM + ON) Fw% ®m
¥

fal 10 cm
) 11 cm
fc 12 cm

(d} 13 cm

83. AB¥N CD W 79 % =m § o Hq@ = P

w #=d §1 AC, ¢B, BD ¥n paA % frmn
) 2l 2PAD = 600 %, W 2BPD TowE
TR 87

(@l 30°
(b} 60°
fe} 90°

fd) 120°

XVWS-T-MTK/50A

84. T W AW ABC R & fawnmy v

DBC T 30 % 91 % U% § o% 3ifka R
™ &1 ZBDC e T ¥

{a) 30°
b} 45°
(e} 60°

(@) S0°

85. T @ ABC # I 4 cm, 6 cm R

8 em #) B & ofnf forgatt wt g e,
M1 57 = M Rt } 0 @ W em R
T RN TR Y W FW RN A
et & a0 37

() 6 cm
b} 7 em
fc} 9 cm

{d 10 cm

86. WM T PAB 0% o0 ! F BeF Y & W

T A A M B Fwd ¥ i pr
wyl tErEe (39 ) B 4R PA=9 om
M PT =12 cm ¥, AB Frwds Tom 37

fal 5 cm
{b) 6 ¢m
{¢J 7Tem

{d} 9 cm

https.//lwww.pygonline.com



B1. The sides of a right-angled triangle are in

the ratio x:{x-1:{x- 18, What is the
perimeter of the triangle?

fa) 28 units
{b) 42 units
fc} 56 units

(d) 84 units

82. ABC is a triangle right angled at B Let

M and N be two points on AB such that
AM=MN=NB Llet P and Q be two
points on AC such that PM is parallel
to QN and QN is paralle]l to CB If
BC=12 cm, then what is (PM+QN)

equal t0? https://www.pygonline.com

{@ 10 em
fb) 11 cm
fe} 12 em

{d 13 cm

B3. AB and CD are the diameters of a circle

which intersect at P. Join AC, CB, BD
and DA, If £PAD=6(°, then what is
ZBPD equal to?

faj 30°
(b} 60°
(c) 90°

(d 120°

XVWS-T-MTK/50A

84. An equilateral triangle ABC and a scalene

triangle DBC are inscribed in a circle on
same side of the arc. What is ZBDC
equal to?

fap 30°

fb} 45°

fep 60°

) 90°

88. The sides of a triangle ABC are 4 cm,

6 cm and 8 cm. With the vertices of
the triangle as centres, three circles
are drawn each touching the other two
externally. What is the sum of the radii
of the three circles?

fa} 6cm
(8) 7 cm
fcg 9 cm

{dl 10 em

86. Let PFAR be a secant to a circle

intersecting the circle at Aand B Let PT
be the tangent segment. If PA=9 cm
and PT=12 cm, then what is AB
equal to?
fal S cm
(b} 6 em
fet 7 cm

{d) 9 cm

(P.T.0.
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87. IR & T fm % 1em 30 cm ¥ A 89. ABCD U% wAad ($difaw) ® fmil AB, DC

WH F 13 cm ¥, A B @ Qowa = % wA § AR 248 = 3DC R s AC iR
7 BD, O W &R #7120 §1 AAOB & 83%d %
ADOC % §3%a ¥ 3739 #1 §7
fa} 24 em?
fa) 2:1
(b} 27 em?
() 3:2
fe} 30 em?
() 4:1
(d) 36 cm?
(d 9:4

88. ABCT& T &, fws #ir c wvgm 31
it AB® € @ 3ifea fy T &9 $i qad 90. T 74 T Ipfst ABCD #i =Wt et #

pR1aR BC=6 ecm M CcA=8cm t, & el Fa 31 9R AB=9 cm, BC=8 c¢m
pF U ¥? 3 CD =12 em B, 9 DA fres stat 7
fa) 54 cm fa) 14 cm
) 5 em ) 13 cm
¢/ 48 cm ¢ 12 cm
(d) 42 cm d) 11 cm

XVWS-T-MTK/50A 30
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B7. If the perimeter of a right-angled triangle

is 30 cm and the hypotenuse is 13 cm,
then what is the area of the triangle?

89. ABCD is a trapezium in which AB is

parallel to DC and 2AB=3DC The
diagonals AC and BD intersect at O.

What is the ratio of the area of AAOB
to that of ADOC?

fa} 24 em?

@ 2:1
b} 27 em?

(b)) 3:2
fc} 30 em?

e 4:1
(d) 36 em?

{d) 9:4

88. ABC ig a triangle right angled at C. Let
p be the length of the perpendicular
drawn from Con AB. If BC=6 ¢m and
CA = 8 cm, then what is the value of p?

90. A circle touches all the four sides of
a quadrilateral ABCD. If AB=9 cm,
BC=8 cm and CD =12 cm, then what
is DA equal to?

fa) 54 cm @ 14 cm
() 5 cm B) 13 cm
fc} 48 cm ) 12 em
(d) 42 cm (d) 11 cm
XVWS-T-MTK/50A a1 | P.T.0.
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91. T ¥ UG (Twi #) ¥ w=d # fmfefem 93, FrefuRaa silest 6 wiewm (Hitwm) 70 ¥7

a2 w fmm it .
' 2,3 -1,2,6,8,09

af 2015 | =f 2016
InA 35 38 @ 2
WM B 45 47
e 88 93 3
™D 75 79
WE 58 609 S
o= 3t & w0+ I 2015 € o § fd 5
2016 # 5% a1 o8 S 951 87
{a BAIRE
(o) ¥@ A, CHRD 94, WY TW W HEAA 1 FHI A (TReAeF
¢ A C DSNE ) &
{d) %74 A, DI E
(@} 85
92, frafiflan st 80 sl f w ultam #
90 BTt ¥ s )z & - (b} 95
e ot & wE ¢} 102
1-10 > @ 112
11-20 8
21-30 10
3140 13 95. 5 I F0 WH FFU MW &% 21, 27, 19, 26,
41-50 18 32 §1 91 § Y% o1 § I ¥ 5 I I
51-60 17 (du m) ok A Ru s ¥ @ F
61-70 12 ittt vt = ofvem ofm = X7 |
71-80 7
firt wfwma BT 3 50% A TR I A0F W @
o 1 () 30
faj 30%
) 40% fej 31
fo) 45%
[d 60% (d} 32
XVWS-T-MTK/50A 32
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91. Consider the following data with regard
- to production of cars (in lakhs) :

Year 2015 | Year 2016
Country A 35 3s
Country B 45 47
Country C 88 93
Country D 75 79
Country E 58 609

In which of the countries, the
production of cars has increased by
more than or equal to 5% in 2016
over 20157

fa) Band E

fb) A, Cand D only
fc) A C Dand E
{d} A, Dand E only

92. The following table shows the marks of
00 students in a test of 80 marks :

Marks Number of students
1-10 5

11-20 8

21-30 10

31-40 13

4150 18

51-60 17

61-70 12

71-80 7

The percentage of students who have
obtained less than or equal to 30%
marks is

fa} 30%
b} 40%
{c) 45%
{d) 60%

XVWS-T-MTK/E0A

93. What is the median of the following data?

2,3,-1,2,6,8 9

(a) 2
(b) 3
¢/ 4

(@ 5

94, What is the arithmetic mean of the first
ten composite numbers?

(@ 85
() 95
(c)- 102

(d) 112

95. The marks obtained by 5 students are
21, 27, 19, 26, 32, Later on 5 grace
marks are added to each student. What
are the average marks of the revised
marks of the students?

(@) 26
(b) 30
(c) 31

(@ 32

[PT.0.
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96. T AT m Y& T W p ¥ S n Yo

e

‘m’lmq%,ﬁiﬁpiqﬁlﬁ{mﬂl}ﬁﬁuﬁ
T WY WA ¢ §, A Trefaies ® € 3R
vt &7

faj e<p
fb) czgq
fc) pse<q

(d) gscsp

IR R (4) vE ¥ fou fed SR § sanfam
wed)-faaftm Miedl % Tl 2w (1, 1, m, v, V)

% gay 1 fimfefi stwsl (Fnat 1) w few i
7 I Il I 1Y Y
2000 | 160 | 80 70 90 75
2001 | 200 | 150 | 85 | 160 | 100
2002 | 135 | 35 44 05 85
2003 | 240 | 95 | 120 | 80 | 120
2004 | 180 | 110 | 85 95 | 115
2005 | 210 | 150 | 100 | 92 | 110

97, T4 2000-2005 ! EfE # o Ior = w5

HA I gl #
fa) TR II
(b} 29 Il
fo TRV

(d) [V

XVWS-T-MTK/50A

98, fimfafas =9 % gm ¥ ¥ feed 3@ IRa

MR (ade)  Fom § i = 37
(@) {2003, 2005)
(b) (2001, 2005)
(c) (2003, 2004)

{d} (2000, 2002)

99, 2001 R g T 2004 § 1 IA § T A

vigem w2001 $ g A 2000 H F
Ieied F ot i o @ ot b

1
fa) 3

(b)

oo |

d) —

100, 78 9§ 2159 1 1 39, g4 11 o 4y IV

¥ 39 IR @ e 17
{aj 2001
() 2002
() 2003

(d} 2004
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96. Let p be the mean of m observations and
g be the mean of n observations, where
p<q If the combined mean of (m+n)
observations is ¢, then which one of the
following is correct?

f@) csp
(b) cz2gq
fc/ pscsgq
fd) gscsp

Directions :

For the next four (4} items, consider
the following data with regard to different types
(1, 11, 111, IV, V) of multivitamin tablets produced
in a company (in lakhs) :

Year I 11 11 vV V
2000 | 160 80 70 90 75
2001 | 200 | 150 85 160 | 100
2002 | 135 35 44 95 85
2003 | 240 95 120 80 120
2004 | 180 [ 110 85 a5 115

2005 | 210 | 150 | 100 92 110

97. Which product is produced least over the
years 2000-20057?

{a) Type II
(b} Type IIl
{c} Type IV

(d} Type V

XVWS-T-MTK/50A

98. In which one of the following pairs of

years, the difference in total number
of tablets produced between them is
minimum?

@) {2003, 2005}

fb} (2001, 2005)

fe} {2003, 2004)

{d) (2000, 2002)

99. The ratio of percentage drop in total

production in 2004 compared to 2001
to that in 2000 compared to 2001, is

1
(al 3

th)

B | =

) -

(d}

| =

100. In which year, the production of Type I is

more than the sum of the production of

Type Il and Type IV?

fa) 2001
(b} 2002
(c) 2003

) 2004

[P.T.0.
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Before you proceed to mark in the Answer Sheet the response to various items in the Test
Booklet, you have to fill in some particulars in the Answer Sheet as per instructions sent to you
with your Admission Certificate.

8. After you have completed filling in all your responses on the Answer Sheet and the examination
has concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted
to take away with you the Test Booklet.

9. Sheets for rough work are appended in the Test Booklet at the end.

10. Penalty for wrong answers :

"HERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE

OBJECTIVE TYPE QUESTION PAPERS,

(i} There are four alternatives for the answer to every question. For each qkuestion for which a
wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

{ii} If a candidate gives more than one answer, it will be treated as a wrong answer even if one of
the given answers happens to be correct and there will be same penalty as above to that
question.

(iid) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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